Solution Structure of Systems of Diff Eqs

2-D Nonhomog Lin. Systems of Diff Ep's

$$dx_{i} = a_{11}(t)X_{1} + a_{12}(t)X_{2} + b_{1}(t) \qquad Matrix - Vector Fish where $\vec{x}(t) = \begin{bmatrix} x_{i}(t) \\ x_{2}(t) \end{bmatrix}$

$$dx_{2} = a_{21}(t)X_{1} + a_{22}(t)X_{2} + b_{2}(t) \qquad d\vec{x} = A(t)\vec{x} + \vec{b}(t) \qquad A(t) = \begin{bmatrix} a_{11}(t) & a_{12}(t) \\ a_{21}(t) & a_{22}(t) \end{bmatrix}$$

$$\vec{b}(t) = \begin{bmatrix} b_{1}(t) \\ b_{2}(t) \end{bmatrix}$$$$

Bad News No Sol. Method for getting "Complementary sols".
Good News "If "Complementary sols" have already been obtained,
the method of "Variation of parameters" can
give us
$$\tilde{x}_p(t)$$
.

$$\begin{array}{c} \begin{array}{c} \begin{array}{c} n-D & \text{Homog. Lin. Systems of Diff Eqs} \\ \end{array} \\ \begin{array}{c} \begin{array}{c} \frac{dx_{1}}{dt} = a_{11}(t) x_{1} + a_{12}(t) x_{2} + \cdots + a_{1n}(t) x_{n} \\ \frac{dx_{2}}{dt} = a_{21}(t) x_{1} + a_{22}(t) x_{2} + \cdots + a_{pn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{2}}{dt} = a_{21}(t) x_{1} + a_{22}(t) x_{2} + \cdots + a_{pn}(t) x_{n} \\ \vdots \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{1} + a_{n2}(t) x_{2} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{1} + a_{n2}(t) x_{2} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{1} + a_{n2}(t) x_{2} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{1} + a_{n2}(t) x_{2} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{1} + a_{n2}(t) x_{2} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{1} + a_{n2}(t) x_{2} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{1} + a_{n2}(t) x_{2} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n2}(t) x_{n} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n2}(t) x_{n} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n2}(t) x_{n} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n2}(t) x_{n} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n2}(t) x_{n} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n2}(t) x_{n} + \cdots + a_{nn}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} + a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \end{array} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \end{array} \\ \begin{array}{c} \frac{dx_{n}}{dt} = a_{n}(t) x_{n} \\ \frac{dx_{n}}{dt} \\ \frac{dx_{n}}{dt} = a_{n}(t) x$$

Example Solve $\frac{d\vec{x}}{dt} = \begin{bmatrix} 1 & 1 \\ 2 & 0 \end{bmatrix} \vec{x}$



Example Solve
$$\frac{d\vec{x}}{dt} = \begin{bmatrix} 1 & 1 \\ 2 & 0 \end{bmatrix}^{\frac{1}{2}}$$

 $\boxed{\text{Solvetim}}$ Eigenvalues $det(A - \lambda I) = det \begin{bmatrix} 1 - \lambda & 1 \\ 2 & -\lambda \end{bmatrix} = (1 - \lambda)(-\lambda) - (1)(2) = \lambda^2 - \lambda - 2,$
 $\lambda_1 = -1, \quad \lambda_2 = 2.$
Eigenvedors for $\lambda_1 = -1$ $(A - \lambda_1 I)\vec{x} = \vec{0}.$

Example Solve
$$\frac{d\vec{x}}{dt} = \begin{bmatrix} 1 & 1 \\ 2 & 0 \end{bmatrix}^{\frac{1}{2}}$$

$$\boxed{\text{Solvetim}} \quad \text{Eigenvalues } \quad det(A - \lambda I) = det \begin{bmatrix} 1 - \lambda & 1 \\ 2 & -\lambda \end{bmatrix} = (1 - \lambda)(-\lambda) - (1)(2) = \lambda^2 - \lambda - 2,$$

$$\lambda_1 = -1, \quad \lambda_2 = 2.$$

$$\underbrace{\text{Eigenvectors for } \lambda_1 = -1}_{\left[\begin{array}{c} 2 & 1 \\ 2 & 1 \end{array}\right] \left[\begin{array}{c} x_1 \\ x_2 \end{array}\right] = \begin{bmatrix} 0 \\ 0 \end{bmatrix}} \Leftrightarrow 2x_1 + x_2 = 0 \Leftrightarrow x_1 = -\frac{1}{2}x_2 \Rightarrow \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} -\frac{1}{2}x_2 \\ x_2 \end{bmatrix} = x_2 \begin{bmatrix} -\frac{1}{2} \\ x_2 \end{bmatrix} = x_2 \end{bmatrix} = x_2 \begin{bmatrix} -\frac{1}{2} \\ x_2 \end{bmatrix} = x_2 \end{bmatrix} = x_2 \begin{bmatrix} -\frac{1}{2} \\ x_2 \end{bmatrix} = x_2 \end{bmatrix} = x_2 \begin{bmatrix} -\frac{1}{2} \\ x_2$$

Example Solve
$$\frac{d\vec{x}}{dt} = \begin{bmatrix} 1 & 1 \\ 2 & 0 \end{bmatrix}^{\frac{1}{2}}$$

$$\boxed{\int_{0}[utim] E:genvalues} \quad det(A-\lambda I) = det \begin{bmatrix} I-\lambda & 1 \\ 2 & -\lambda \end{bmatrix} = (I-\lambda)(-\lambda) - (I)(2) = \lambda^{2} - \lambda - 2,$$

$$\lambda_{1} = -I, \quad \lambda_{2} = 2.$$

$$Eigenvedors for \lambda_{1} = -I \quad (A - \lambda_{1}I)\vec{x} = \vec{0} \quad (A+I)\vec{x} = \vec{0}$$

$$\begin{bmatrix} 2 & 1 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} x_{1} \\ x_{2} \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \Leftrightarrow 2X_{1} + X_{2} = 0 \Leftrightarrow X_{1} = -\frac{1}{2}X_{2} \Leftrightarrow \begin{bmatrix} X_{1} \\ X_{2} \end{bmatrix} = \begin{bmatrix} -\frac{1}{2}X_{2} \\ X_{2} \end{bmatrix} = X_{2}\begin{bmatrix} -\frac{1}{2} \\ X_{2} \end{bmatrix} = X_{2}\begin{bmatrix} -\frac{1}{2} \\ X_{2} \end{bmatrix} = X_{2}\begin{bmatrix} -\frac{1}{2} \\ X_{2} \end{bmatrix} = \begin{bmatrix} 0 \\ X_{2} \end{bmatrix} \Leftrightarrow \begin{bmatrix} -1 & 1 \\ X_{2} \end{bmatrix} = \begin{bmatrix} 0 \\ X_{2} \end{bmatrix} \Leftrightarrow \begin{bmatrix} -1 & 1 \\ X_{2} \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \Leftrightarrow \begin{bmatrix} -X_{1} + X_{2} = 0 \\ X_{1} + X_{2} = 0 \end{cases} \Rightarrow X = X_{2} \Leftrightarrow \begin{bmatrix} X_{1} \\ X_{2} \end{bmatrix} = X_{2}\begin{bmatrix} 1 \\ 1 \end{bmatrix}$$

$$E:genvectors for \lambda_{2} = 2 \quad (A - \lambda_{2}I)\vec{x} = \vec{0}, \quad (A - 2I)\vec{x} = \vec{0}$$

Example Solve $\frac{d\vec{x}}{dt} = \begin{bmatrix} 1 & 1 \\ 2 & 0 \end{bmatrix} \vec{x}$ $\boxed{\text{Solution}} \ \text{Eigenvalues} \ det(A-\lambda I) = det \begin{bmatrix} 1-\lambda & 1\\ 2 & -\lambda \end{bmatrix} = (1-\lambda)(-\lambda) - (1)(2) = \lambda^2 - \lambda - 2,$ $= (\lambda+1)(\lambda-2).$ $\lambda_1 = -1$, $\lambda_2 = 2$. Eigenvedors for $\lambda_i = -1$ $(A - \lambda_i I)\vec{x} = \vec{o}$. $(A + I)\vec{x} = \vec{o}$ $\begin{bmatrix} 2 & 1 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \iff 2X_1 + X_2 = 0 \iff X_1 = -\frac{1}{2}X_2 \iff \begin{bmatrix} X_1 \\ X_2 \end{bmatrix} = \begin{bmatrix} -\frac{1}{2}X_2 \\ X_2 \end{bmatrix} = X_2 \begin{bmatrix} -\frac{1}{2} \\ X_2 \end{bmatrix}$ Eigenvectors for $\lambda_2 = 2$ $(A - \lambda_2 I)\vec{x} = \vec{0}$, $(A - 2I)\vec{x} = \vec{0}$ $\begin{bmatrix} -1 & 1 \\ 2 & -2 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \iff \begin{bmatrix} -x_1 + x_2 = 0 \\ 2x_1 - 2x_2 = 0 \end{bmatrix} \xrightarrow{x_1 = x_2} \iff \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = x_2 \begin{bmatrix} 1 \\ 1 \end{bmatrix}$ General Solutions of $\frac{d\vec{x}}{dt} = A\vec{x}$; $\vec{x}(t) = C, e^{-t} \begin{bmatrix} -\frac{1}{2} \\ i \end{bmatrix} + C, e^{2t} \begin{bmatrix} i \end{bmatrix}$.

Example Solve
$$\frac{d\vec{x}}{dt} = \begin{bmatrix} 1 & 1 \\ 2 & 0 \end{bmatrix} \vec{x}$$

Solution Eigenvalues $det(A - \lambda I) = det \begin{bmatrix} 1 - \lambda & 1 \\ 2 & -\lambda \end{bmatrix} = (1 - \lambda)(-\lambda) - (i)(2) = \lambda^2 - \lambda - 2,$
 $\lambda_1 = -1, \quad \lambda_2 = 2.$
Eigenvedows for $\lambda_1 = -1$ $(A - \lambda_1 I)\vec{x} = \vec{0}$. $(A + I)\vec{x} = \vec{0}$
 $\begin{bmatrix} 2 & 1 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \Leftrightarrow 2K_1 + X_2 = 0 \Leftrightarrow X_1 = -\frac{1}{2}X_2 \Rightarrow \begin{bmatrix} X_1 \\ X_2 \end{bmatrix} = \begin{bmatrix} -\frac{1}{2}X_2 \\ X_2 \end{bmatrix} = X_2 \begin{bmatrix} -\frac{1}{2} \\ X_2 \end{bmatrix} = X_2 \begin{bmatrix} 1 \\ X_2 \end{bmatrix} = X_2 \begin{bmatrix} -\frac{1}{2} \\ X_2 \end{bmatrix} = X_2 \begin{bmatrix} 1 \\ X_2 \end{bmatrix} =$

Ex. Solve
$$d\vec{x} = [\vec{z} \ \vec{z}] \vec{x}$$
, $\vec{x}(0) = [\vec{z}]$.

EX. Solve $d\vec{x} = \begin{bmatrix} i \\ 2 \end{bmatrix} \vec{x}$, $\vec{x}(0) = \begin{bmatrix} 3 \\ -5 \end{bmatrix}$. General Sols: $\vec{x}(t) = C_1 \vec{e} \cdot \begin{bmatrix} -\frac{1}{2} \end{bmatrix} + C_2 \vec{e}^{2t} \begin{bmatrix} 1 \end{bmatrix}$.

Ex. Solve $d\vec{x} = \begin{bmatrix} 1 \\ 2 \end{bmatrix} \vec{x}, \quad \vec{x}(0) = \begin{bmatrix} 3 \\ -1 \end{bmatrix}$. General Sols: $\vec{x}(t) = C_1 \vec{e} \cdot \begin{bmatrix} -\frac{1}{2} \\ -\frac{1}{2} \end{bmatrix} + C_2 \vec{e}^{2t} \begin{bmatrix} 1 \\ -\frac{1}{2} \end{bmatrix}$. Init. Cond. $\vec{x}(0) = \begin{bmatrix} 3\\5 \end{bmatrix} \Rightarrow c_1 \begin{bmatrix} -\frac{1}{2}\\1 \end{bmatrix} + c_2 \begin{bmatrix} 1\\1 \end{bmatrix} = \begin{bmatrix} 3\\5 \end{bmatrix}$. or equivalently, $\begin{bmatrix} -\frac{1}{2} & i \end{bmatrix} \begin{bmatrix} c_1 \end{bmatrix} = \begin{bmatrix} 3 \\ 5 \end{bmatrix}$.

Ex. Solve	$\frac{dx}{dt} = \begin{bmatrix} 1\\ 2 \end{bmatrix}$	IJ×,	$\vec{x}(0) = \begin{bmatrix} 3 \\ 5 \end{bmatrix}$.
·General	$Sols : \vec{X}(4)$	$c_1 = c_1 e^{t}$	$t \left[-\frac{1}{2} \right] + c_2 e^{2t} \left[\frac{1}{2} \right]$
·Init. Con	d. $\vec{x}(o) = \begin{bmatrix} 3\\5 \end{bmatrix}$] ⇒ ¢,	$\begin{bmatrix} -\frac{1}{2} \\ 1 \end{bmatrix} + C_2 \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 3 \\ 5 \end{bmatrix} .$
or equi	valently,		$\frac{1}{2} \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \begin{bmatrix} 3 \\ 5 \end{bmatrix}$
$\operatorname{Row} \operatorname{Redu}_{\begin{bmatrix} -\frac{1}{2} & 1 \\ 1 & 1 \end{bmatrix}}$	$\begin{bmatrix} 3 \\ 5 \end{bmatrix} R [\iff R 2$	~ [+	$\begin{bmatrix} 1 & 5 \\ 1 & 3 \end{bmatrix}_{2R2} \sim \begin{bmatrix} 1 & 1 & 5 \\ -1 & 2 & 6 \end{bmatrix}_{R2+R1}$
$\sim \begin{bmatrix} 1 & 1 \\ 0 & 3 \end{bmatrix}$	$\begin{bmatrix} 5 \\ 1 \end{bmatrix} R_1 - \frac{1}{3}R_2$		$\begin{array}{c} 0 & \frac{4}{3} \\ 3 & 11 \\ \end{array} \\ \begin{array}{c} \frac{1}{3} R_2 \\ \end{array} \\ \begin{array}{c} 1 & 0 \\ 0 \\ \end{array} \\ \begin{array}{c} 1 & 0 \\ \frac{4}{3} \\ 11 \\ \frac{1}{3} R_2 \\ \end{array} \\ \begin{array}{c} 1 & 0 \\ \frac{4}{3} \\ 0 \\ 1 \\ \frac{11}{3} \\ \end{array} \\ \begin{array}{c} \frac{4}{3} \\ \frac{11}{3} \\ \frac{1}{3} \\ $
• R.R.E.F. ⇒	$\begin{cases} C_1 = \frac{4}{3} \Rightarrow \\ C_2 = \frac{11}{3} \end{cases}$	$\vec{\mathbf{X}}(t) = 4$	$\frac{4}{3}e^{-t}\left[\frac{-1}{2}\right] + \frac{11}{3}e^{t}\left[\frac{1}{1}\right]$

$$\begin{cases} \frac{dx}{dt} = -3x - 3y - z \\ \frac{dy}{dt} = x + y + z \\ \frac{dz}{dt} = x + 3y + z \\ \frac{dz}{dt} = x + 3y + z \end{cases}$$

$$x(0) = 5$$

Solution
$$\Leftrightarrow$$
 Matrix-Vector form

$$\frac{d}{dt} \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 3 & 1 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix}, \begin{bmatrix} x(0) \\ y(0) \\ z(0) \end{bmatrix} = \begin{bmatrix} 5 \\ 5 \\ -5 \end{bmatrix}.$$

Coefficient Matrix:
$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 1 & 1 \\ 1 & 3 & 1 \end{bmatrix}$$
.
Eigenvalues $det(A - \lambda T) = det \begin{bmatrix} -3 - \lambda & -3 & -1 \\ 1 & 1 - \lambda & 1 \\ 1 & 3 & 1 - \lambda \end{bmatrix}$

•

Coefficient Matrix:
$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 3 & 1 \end{bmatrix}$$
.

• Eigenvalues
$$det(A-\lambda I) = det\begin{bmatrix} -3-\lambda & -3 & -1\\ 1 & 1-\lambda & 1\\ 3 & 1-\lambda \end{bmatrix}$$
 (Cofactor expansion)
= $(-3-\lambda) det\begin{bmatrix} 1-\lambda & 1\\ 3 & 1-\lambda \end{bmatrix} - (1) det\begin{bmatrix} -3 & -1\\ 3 & 1-\lambda \end{bmatrix} + (1) det\begin{bmatrix} -3 & -1\\ 1-\lambda & 1 \end{bmatrix}$
= $(-3-\lambda) [(1-\lambda)^2 - 3] - [-3(1-\lambda) + 3] + [-3 + (1-\lambda)]$
= $(-3-\lambda) (\lambda^2 - 2\lambda - 2) - (3\lambda) + (-2-\lambda)$ [f(λ)
= $(-3\lambda^2 + 6\lambda + 6 - \lambda^3 + 2\lambda^2 + 2\lambda) - (3\lambda) + (-2-\lambda) = -\lambda^3 - \lambda^2 + 4\lambda + 4$.

Coefficient Matrix:
$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 3 & 1 \end{bmatrix}.$$

Eigenvalues
$$det(A - \lambda I) = det \begin{bmatrix} -3 - \lambda & -3 & -1 \\ 1 & 3 & 1 - \lambda \end{bmatrix} \begin{pmatrix} cofactor expansion \\ along Column & 1 \end{pmatrix}$$

$$= (-3 - \lambda) det \begin{bmatrix} 1 - \lambda & 1 \\ 3 & 1 - \lambda \end{bmatrix} - (1) det \begin{bmatrix} -3 - 1 \\ 3 & 1 - \lambda \end{bmatrix} + (1) det \begin{bmatrix} -3 & -1 \\ 1 - \lambda & 1 \end{bmatrix}$$

$$= (-3 - \lambda) \begin{bmatrix} (1 - \lambda)^2 - 3 \end{bmatrix} - \begin{bmatrix} -3(1 - \lambda) + 3 \end{bmatrix} + \begin{bmatrix} -3 + (1 - \lambda) \end{bmatrix}$$

$$= (-3 - \lambda) (\lambda^2 - 2\lambda - 2) - (3\lambda) + (-2 - \lambda)$$

$$= (-3\lambda^2 + 6\lambda + 6 - \lambda^3 + 2\lambda^2 + 2\lambda) - (3\lambda) + (-2 - \lambda) = -\lambda^3 - \lambda^2 + 4\lambda + 4.$$

Candidates of Rational Roots:
$$\underbrace{(an integer factor of 4)}_{(an integer factor of -1)},$$

Coefficient Matrix:
$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 3 & 1 \end{bmatrix}$$

Eigenvalues det $(A - \lambda I) = det\begin{bmatrix} -3 - \lambda & -3 & -1 \\ 1 & 3 & 1 - \lambda \end{bmatrix}$ (Cofactor expansion along Column 1)

$$= (-3 - \lambda) det\begin{bmatrix} 1 - \lambda & 1 \\ 3 & 1 - \lambda \end{bmatrix} - (1) det\begin{bmatrix} -3 & -1 \\ 3 & 1 - \lambda \end{bmatrix} + (1) det\begin{bmatrix} -3 & -1 \\ 1 - \lambda & 1 \end{bmatrix}$$

$$= (-3 - \lambda) [(1 - \lambda)^{2} - 3] - [-3(1 - \lambda) + 3] + [-3 + (1 - \lambda)]$$

$$= (-3 - \lambda) (\lambda^{2} - 2\lambda - 2) - (3\lambda) + (-2 - \lambda)$$

$$= (-3\lambda^{2} + 6\lambda + 6 - \lambda^{3} + 2\lambda^{2} + 2\lambda) - (3\lambda) + (-2 - \lambda) = -\lambda^{3} - \lambda^{2} + 4\lambda + 4$$
(and i dates of Rational Roots: (an integer factor of 4))
i.e. $\pm \frac{1}{1}, \pm \frac{2}{1}, \pm \frac{4}{1}$.
f(1) = 6, f(2) = 0, f(4) = -60, f(-1) = 0, f(-2) = 0, f(-4) = 36
 $a root$
Eigenvalues of A are : $\lambda_{1} = 2, \lambda_{2} = -1, \lambda_{3} = -2$.

•

$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 1 & 1 \\ 1 & 3 & 1 \end{bmatrix} \quad \text{Eigenvalues} \quad \lambda_1 = 2, \quad \lambda_2 = -1, \quad \lambda_3 = -2$$

$$Eigenvectors \quad \text{for} \quad \lambda_1 = 2; \quad (A - \lambda_1 I) \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \vec{0} \iff (A - 2I) \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \vec{0}$$

$$\Leftrightarrow \begin{bmatrix} -5 & -3 & -1 \\ 1 & -1 & 1 \\ 1 & 3 & -1 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 1 & 1 \\ 1 & 3 & 1 \end{bmatrix} \quad \text{Eigenvalues} \quad \lambda_1 = 2, \quad \lambda_2 = -1, \quad \lambda_3 = -2$$

$$Eigenvectors \text{ for } \lambda_1 = 2 : \quad (A - \lambda_1 I) \begin{bmatrix} y \\ z \\ z \end{bmatrix} = \vec{0} \iff (A - 2I) \begin{bmatrix} y \\ z \\ z \end{bmatrix} = \vec{0}$$

$$\Leftrightarrow \begin{bmatrix} -5 & -3 & -1 \\ 1 & -1 & 1 \\ 1 & 3 & -1 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\begin{bmatrix} -5 & -3 & -1 \\ 1 & 3 & -1 \end{bmatrix} \begin{bmatrix} RI \Leftrightarrow R^2 \\ -5 & -3 & -1 \\ 1 & 3 & -1 \end{bmatrix} \begin{bmatrix} R^2 + 5R^1 \\ -5 & -3 & -1 \\ R^3 - R_1 \end{bmatrix} \begin{bmatrix} 0 & -8 & 4 \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\begin{bmatrix} 1 & -1 & 1 \\ 0 & -8 & 4 \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\begin{bmatrix} 1 & -1 & 1 \\ 0 & -8 & 4 \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\begin{bmatrix} 1 & -1 & 1 \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & -1 & 1 \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$\implies \begin{bmatrix} 1 & 0 & \frac{1}{2} \\ 0 & 4 & -2 \end{bmatrix} - \frac{1}{8}R^2$$

$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 1 & 1 \\ 1 & 3 & 1 \end{bmatrix} \qquad \lambda_{1} = 2 \qquad \lambda_{2} = -1 \qquad \lambda_{3} = -2$$
Eigenvectors for $\lambda_{2} = -1 : (A - \lambda_{2}I)\begin{bmatrix} x \\ y \\ z \end{bmatrix} = \vec{0} \iff (A + I)\begin{bmatrix} x \\ y \\ z \end{bmatrix} = \vec{0}$

$$\Leftrightarrow \begin{bmatrix} -2 & -3 & -1 \\ 1 & 3 & 2 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\begin{bmatrix} -2 & -3 & -1 \\ 1 & 3 & 2 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\begin{bmatrix} -2 & -3 & -1 \\ 1 & 3 & 2 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$RI \iff R^{2} \qquad \int \begin{bmatrix} 1 & 2 & 1 \\ -2 & -3 & -1 \\ 1 & 3 & 2 \end{bmatrix} \begin{bmatrix} R^{2} + 2R^{1} \\ R^{3} - R^{1} \end{bmatrix} = \begin{bmatrix} 1 & 2 & 1 \\ 0 & 1 & 1 \\ 0 & 1 & 1 \end{bmatrix} R^{1-2R^{2}}$$

$$R^{2} + 2R^{1} \sim \begin{bmatrix} 1 & 2 & 1 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \end{bmatrix}$$

$$\Leftrightarrow \begin{bmatrix} 4 & 0 & -1 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \end{bmatrix}$$

$$\Leftrightarrow \begin{bmatrix} 4 & 0 & -1 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \end{bmatrix}$$

$$\Leftrightarrow \begin{bmatrix} x & -z = 0 \\ y & +z = 0 \end{bmatrix} \iff \begin{bmatrix} x & =z \\ y & =-z \end{bmatrix} \iff \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} z \\ -z \\ z \end{bmatrix} = z \begin{bmatrix} -1 \\ 1 \end{bmatrix}$$

$$A = \begin{bmatrix} -3 & -3 & -1 \\ 1 & 1 & 1 \\ 1 & 3 & 1 \end{bmatrix} \qquad \lambda_1 = 2 \qquad \lambda_2 = -1 \qquad \lambda_3 = -2$$
Eigenvectors for $\lambda_3 = -2 : (A - \lambda_3^T) \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \vec{0} \iff (A + 2T) \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \vec{0}$

$$\Leftrightarrow \begin{bmatrix} -1 & -3 & -1 \\ 1 & 3 & 1 \\ 1 & 3 & 3 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\begin{bmatrix} -1 & -3 & -1 \\ 1 & 3 & 1 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} -R^T \\ R2 + R^T \\ R3 + R_T \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 & 0 \end{bmatrix} \xrightarrow{\frac{1}{2}} R3 \qquad \begin{bmatrix} 1 & 3 & 1 \\ 0 & 6 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{R1-R3} R^2$$

$$\approx R3$$

$$\sim \begin{bmatrix} 1 & 3 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{bmatrix}$$

$$\Leftrightarrow \begin{cases} X + 3Y = 0 \\ Z = 0 \end{cases} \iff \begin{cases} X = -3Y \\ Z = 0 \end{cases} \Leftrightarrow \begin{bmatrix} X \\ y \\ Z \end{bmatrix} = \begin{bmatrix} -3Y \\ 1 \\ 0 \end{bmatrix} = \begin{bmatrix} -3Y \\ 1 \\ 0 \end{bmatrix}$$

Eigenvalues of
$$A$$
 are : $\lambda_1 = 2$, $\lambda_2 = -1$, $\lambda_3 = -2$.
with eigenvectors $\vec{u}_1 = \begin{bmatrix} -1/2 \\ 1/2 \\ 1 \end{bmatrix}$, $\vec{u}_2 = \begin{bmatrix} 1 \\ -1 \\ 1 \end{bmatrix}$, $\vec{u}_3 = \begin{bmatrix} -3 \\ 1 \\ 0 \end{bmatrix}$

• General Solutions of
$$\frac{d}{dt} \begin{bmatrix} x \\ y \end{bmatrix} = A \begin{bmatrix} x \\ y \end{bmatrix}$$
:

$$\begin{bmatrix} x^{(t)} \\ y^{(t)} \\ z^{(t)} \end{bmatrix} = C_{1} e^{2t} \begin{bmatrix} -\frac{1}{2} \\ \frac{1}{2} \end{bmatrix} + C_{2} e^{-t} \begin{bmatrix} -\frac{1}{2} \\ -\frac{1}{2} \end{bmatrix} + C_{3} e^{-2t} \begin{bmatrix} -\frac{3}{2} \\ 0 \end{bmatrix}$$
• Init Cond $\begin{bmatrix} x^{(0)} \\ y^{(0)} \\ z^{(0)} \end{bmatrix} = \begin{bmatrix} 5 \\ 1 \\ 5 \end{bmatrix} \Leftrightarrow C_{1} \begin{bmatrix} -\frac{1}{2} \\ \frac{1}{2} \end{bmatrix} + C_{2} \begin{bmatrix} -\frac{1}{2} \\ -\frac{1}{2} \end{bmatrix} + C_{3} \begin{bmatrix} -\frac{3}{2} \\ 0 \end{bmatrix} = \begin{bmatrix} 5 \\ 1 \\ 5 \end{bmatrix}$

$$\Leftrightarrow \begin{bmatrix} -\frac{1}{2} \\ -\frac{1}{2} \end{bmatrix} = \begin{bmatrix} 5 \\ 1 \\ 0 \end{bmatrix} = \begin{bmatrix} 5 \\ 1 \\ 5 \end{bmatrix}$$

Row Reduce

 $\begin{vmatrix} -1/2 & 1 & -3 & 5 \\ 1/2 & -1 & 1 & 2R2 \\ 1/2 & -1 & 1 & 1 \\ 1/2 & -1 & 1 & -2R2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & 2 & 2 \\ 1/2 & -2 & -2 & 2 \\ 1/2 & -2 & -2 & 2 \\ 1/2 & -2 & -2 & 2 \\ 1/2 & -2 & -2 & 2 \\ 1/2 & -2 & -2 & 2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 & -2 & -2 \\ 1/2 & -2 &$ $\sim \begin{bmatrix} 1 & -2 & 6 & -10 \\ 0 & 0 & -4 & 12 \\ 0 & 3 & -6 & 15 \end{bmatrix} - \frac{1}{3}R^{2} \sim \begin{bmatrix} 1 & -2 & 6 & -10 \\ 0 & 0 & 1 & -3 \\ 0 & 1 & -2 & 5 \end{bmatrix} R^{1+2R^{3}}$ $\sim \begin{bmatrix} 1 & 0 & 2 & 0 \\ 0 & 0 & 1 & -3 \\ 0 & 1 & -2 & 5 \end{bmatrix} R^{1-2R_2} \begin{bmatrix} 1 & 0 & 0 & 6 \\ 0 & 0 & 1 & -3 \\ 0 & 1 & 0 & -1 \end{bmatrix} R^2 \Leftrightarrow R^3$ $\sim \begin{bmatrix} 1 & 0 & 0 & \vdots & 6 \\ 0 & 1 & 0 & \vdots & -1 \\ 0 & 0 & 1 & \vdots & -1 \end{bmatrix}$ (reduced row echelon form) $\Leftrightarrow \begin{cases} C_1 = 6 \\ C_2 = -1 \\ C_3 = -3 \end{cases}$



Solution of the Initial Value Problem

$$\begin{bmatrix} x(t) \\ y(t) \\ z(t) \end{bmatrix} = 6 e^{2t} \begin{bmatrix} -1/2 \\ 1/2 \\ 1 \end{bmatrix} - e^{-t} \begin{bmatrix} -1 \\ -1 \\ 1 \end{bmatrix} - 3 e^{2t} \begin{bmatrix} -3 \\ 1 \\ 0 \end{bmatrix}$$

Alternative Form of the Answer

$$x(t) = -3e^{2t} - e^{-t} + 9e^{-2t}$$

 $y(t) = 3e^{2t} + e^{-t} - 3e^{-2t}$
 $z(t) = 6e^{2t} - e^{-t}$

Example Solve
$$\frac{dx}{dt} = Ax$$
, where $A = \begin{bmatrix} 2 & 1 & -3 \\ -1 & 0 & 3 \\ 1 & 1 & -2 \end{bmatrix}$.
Eigenvalues: $det(A-\lambda I) = det \begin{bmatrix} 2-\lambda & 1 & -3 \\ -1 & -\lambda & 3 \\ 1 & 1 & -2-\lambda \end{bmatrix} \begin{pmatrix} (of actor expansion) \\ along Column 2 \end{pmatrix}$
 $= -(1)det \begin{bmatrix} -1 & 3 \\ 1 & -2-\lambda \end{bmatrix} + (-\lambda)det \begin{bmatrix} 2-\lambda & -3 \\ 1 & -2-\lambda \end{bmatrix} - (1)det \begin{bmatrix} 2-\lambda & -3 \\ -1 & 3 \end{bmatrix}$
 $= -(2+\lambda-3) - \lambda(-4+\lambda^{2}+3) - (6-3\lambda-3) = -\lambda^{3}+3\lambda-2 = f(\lambda)$.
(and idates of Rational Roots:
(an integer factor of -2)
(an integer factor of -1)
 $f(1) = D$, $f(2) = -4$, $f(-1) = -4$, $f(-2) = O$
 $a root$
 $(1) + (-2) + (The 3rd root) = Trace (A) = 2 + 0 + (-2) = O$
 $\Rightarrow (The 3rd root) = 1$
 $\lambda_{1} = -2$, $\lambda_{2} = \lambda_{3} = 1$ (repeated, algebraic multiplicity 2)

$$A = \begin{bmatrix} 2 & 1 & -3 \\ -1 & 0 & 3 \\ 1 & 1 & -2 \end{bmatrix} \quad \lambda_1 = -2, \qquad \lambda_2 = \lambda_3 = 1$$

• Eigenvectors for $\lambda_1 = -2$: $(A+2I) \times = 0 \Leftrightarrow \begin{bmatrix} -1 & 2 & 3 \\ 1 & 1 & 0 \end{bmatrix} \begin{bmatrix} x_2 \\ x_3 \end{bmatrix} \begin{bmatrix} 0 \\ x_3 \end{bmatrix}$

 $\begin{bmatrix} 4 & | & -3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 0 \end{bmatrix} R [\leftrightarrow R^{3} \sim \begin{bmatrix} 1 & | & 0 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1 & 2 & 3 \\ -1$

$$\sim \begin{bmatrix} 1 & 1 & 0 \\ 0 & 1 & 1 \\ 0 & -1 & -1 \end{bmatrix} \stackrel{R_1 - R_2}{R_3 + R_2} \sim \begin{bmatrix} 1 & 0 & -1 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \end{bmatrix}$$

 $\Leftrightarrow \begin{cases} x_1 - x_3 = 0 \\ x_2 + x_3 = 0 \end{cases} \Leftrightarrow \begin{cases} x_1 = x_3 \\ x_2 = -x_3 \end{cases} \Leftrightarrow \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} x_3 \\ -x_3 \\ x_3 \end{bmatrix} = x_3 \begin{bmatrix} 1 \\ -1 \\ 1 \end{bmatrix}$

$$A = \begin{bmatrix} 2 & 1 & -3 \\ -1 & 0 & 3 \\ 1 & 1 & -2 \end{bmatrix} \qquad \lambda_1 = -2, \qquad \lambda_2 = \lambda_3 = 1$$

• Eigenvectors for $\lambda_2 = \lambda_3 = 1$: $(A - I)\vec{x} = \vec{0} \iff \begin{bmatrix} 1 & 1 & -3 \\ -1 & -1 & 3 \\ 1 & 1 & -3 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ -1 & -3 \\ 1 & 1 & -3 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ x_1 \\ x_2 \\ x_3 \end{bmatrix} = X_2 \begin{bmatrix} 1 \\ 1 \\ x_2 \\ x_3 \end{bmatrix} = X_2 \begin{bmatrix} 1 \\ 1 \\ x_2 \\ x_3 \end{bmatrix} = X_2 \begin{bmatrix} 1 \\ 1 \\ x_2 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_2 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_2 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1 \\ 1 \\ x_3 \end{bmatrix} = X_3 \begin{bmatrix} 1$